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Задача 1.1 

 

Решение: 

𝑣1 = 𝑠1/𝑡1;  𝑣2 = 𝑡𝑔30 = √3/3;  𝑆 = 𝑣1𝑡;  𝑆1 − 𝑆 = 𝑣2𝑡 => 𝑆 = 𝑆1 − 𝑣2𝑡; 𝑣1𝑡

= 𝑆1 − 𝑣2𝑡;  𝑡 = 𝑆1/(𝑣1 + 𝑣2) 

𝑡 = 3𝑆1𝑡1/(3𝑆1 + 𝑡1√3) 
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Задача 1.2 

 

Решение: 

𝑣1 = 𝑠1/𝑡1;  𝑣2 = 𝑡𝑔60 = √3;  𝑆 = 𝑣1𝑡;  𝑆1 − 𝑆 = 𝑣2𝑡 => 𝑆 = 𝑆1 − 𝑣2𝑡; 𝑣1𝑡

= 𝑆1 − 𝑣2𝑡;  𝑡 = 𝑆1/(𝑣1 + 𝑣2) 

𝑡 = 𝑆1𝑡1/(𝑆1 + 𝑡1√3) 

Задача 2.1 

Решение: 

𝐹𝑦 = 𝑘𝑥; 𝐹т = 𝑚𝑔; 𝐹у = 𝐹т => 𝑚 = 𝑘𝑥𝑅2/𝐺𝑀 
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Задача 2.2 

Решение: 

𝐹𝑦 = 𝑘𝑥; 𝐹т = 𝑚𝑔; 𝐹у = 𝐹т => 𝑀 = 𝑘𝑥𝑅2/𝑚𝐺 

Задача 3.1 

Решение: 

𝑐л𝑚л𝛥𝑡л + 𝜆𝑚л + 𝑐в𝑚л(𝑡 − 0) = 𝑐в𝑚в(𝑡в − 𝑡) 

𝑐в𝑚л𝑡 + 𝑐в𝑚в𝑡 = 𝑐в𝑚в𝑡в − 𝑐л𝑚л𝛥𝑡л − 𝜆𝑚л 

𝑡 = (𝑐в𝑚в𝑡в − 𝑐л𝑚л𝛥𝑡л − 𝜆𝑚л)/𝑐в(𝑚л + 𝑚в), где 𝑚л = 𝑁𝜌л𝑉л = 45 ∗

10−4кг; 𝑚в = 0,2 кг 

𝑡 ≈ 22,6℃ => 𝛥𝑡 = 𝑡в − 𝑡 = 2,4℃ 

Задача 3.2 

Решение: 

𝑐л𝑚л𝛥𝑡л + 𝜆𝑚л + 𝑐в𝑚л(𝑡 − 0) = 𝑐в𝑚в(𝑡в − 𝑡) 

𝑐в𝑚л𝑡 + 𝑐в𝑚в𝑡 = 𝑐в𝑚в𝑡в − 𝑐л𝑚л𝛥𝑡л − 𝜆𝑚л 

𝑡 = (𝑐в𝑚в𝑡в − 𝑐л𝑚л𝛥𝑡л − 𝜆𝑚л)/𝑐в(𝑚л + 𝑚в), где 𝑚л = 𝑁𝜌л𝑉л = 9 ∗

10−3кг; 𝑚в = 0,2 кг 

𝑡 ≈ 20,3℃ => 𝛥𝑡 = 𝑡в − 𝑡 = 4,7℃ 

  


